

IMPROVED OSCILLATION CRITERIA OF SECOND-ORDER ADVANCED NON-CANONICAL DIFFERENCE EQUATIONS

G.E.CHATZARAKIS¹, N.INDRAJITH², S.L.PANETSOS¹ AND E.THANDAPANI³

Received 15 December, 2021; accepted 2 February, 2022; published 24 March, 2022.

¹ DEPARTMENT OF ELECTRICAL AND ELECTRONIC ENGINEERING EDUCATORS, SCHOOL OF PEDAGOGICAL AND TECHNOLOGICAL EDUCATION, MAROUSI 15122, ATHENS, GREECE. gea.xatz@aspete.gr, geaxatz@otenet.gr, spanetsos@aspete.gr

² DEPARTMENT OF MATHEMATICS, PRESIDENCY COLLEGE, CHENNAI - 600 005, INDIA. indrajithna@gmail.com

³ RAMANUJAN INSTITUTE FOR ADVANCED STUDY IN MATHEMATICS, UNIVERSITY OF MADRAS CHENNAI - 600 005, INDIA.

ethandapani@yahoo.co.in

ABSTRACT. Employing monotonic properties of nonoscillatory solutions, we derive some new oscillation criteria for the second-order advanced non-canonical difference equation

$$\Delta(p(\ell)\Delta u(\ell)) + q(\ell)u(\sigma(\ell)) = 0.$$

Our results extend and improve the earlier ones. The outcome is illustrated via some particular difference equations.

Key words and phrases: Second-order; Advanced; Difference equations; Oscillation.

2010 Mathematics Subject Classification. 39A10.

The third author was supported by the Special Account for Research of ASPETE through the funding program "Strengthening research of ASPETE faculty members".

ISSN (electronic): 1449-5910

^{© 2022} Austral Internet Publishing. All rights reserved.

1. INTRODUCTION

In this paper, we study the second order advanced non-canonical difference equation

(1.1)
$$\Delta(p(\ell)\Delta u(\ell)) + q(\ell)u(\sigma(\ell)) = 0, \ \ell \in N(\ell_0)$$

where ℓ_0 is a positive integer and $\mathbb{N}(\ell_0) = \{\ell_0, \ell_0 + 1, ..., \}$,

 (H_1) { $p(\ell)$ } and { $q(\ell)$ } are positive real sequences with

(1.2)
$$D(\ell_0) = \sum_{\ell=\ell_0}^{\infty} \frac{1}{p(\ell)} < \infty;$$

 (H_2) { $\sigma(\ell)$ } is a monotone increasing sequence of integers with $\sigma(\ell) > \ell+1$ for all $\ell \in \mathbb{N}(\ell_0)$.

By a solution of (1.1), we mean a nontrivial sequence $\{u(\ell)\}$ that satisfies (1.1) for all $\ell \in$ $\mathbb{N}(\ell_0)$. A solution $\{u(\ell)\}$ of (1.1) is called *oscillatory* if it is neither eventually negative nor eventually positive, otherwise, it is said to be *nonoscillatory*. Equation (1.1) is said to be oscillatory if all its solutions are oscillatory.

In recent years, many criteria have been reported in the literature on the oscillation of (1.1)for the retarded case. See for example [1, 2, 3, 7, 10, 11, 21, 6, 14, 15, 18, 19] and the references therein. However for the equation (1.1) with $D(\ell_0) = \infty$, few oscillation results available in the literature, see for example [2, 8, 4, 16, 17, 22, 23].

From the review of literature, we see that very few results are available for the oscillation of (1.1) when (1.2) holds, see [3, 12, 13, 9, 10]. Therefore, our aim in this paper is to contribute to the underdeveloped oscillation theory of second-order advanced non-canonical difference equations. Furthermore, the results obtained in this paper improve and complement those in [12, 7, 13, 9, 10].

2. MAIN RESULTS

It follows from Lemma 2.1 in [20] that the set of positive solutions of (1.1) has the following structure.

Lemma 2.1. Let $\{u(\ell)\}$ be an eventually positive solution of (1.1). Then $\{u(\ell)\}$ satisfies one of the following conditions :

 $(S_1) p(\ell)\Delta u(\ell) > 0, \Delta(p(\ell)\Delta u(\ell)) < 0;$ $(S_*) p(\ell)\Delta u(\ell) < 0, \Delta(p(\ell)\Delta u(\ell)) < 0$ for all $\ell \geq \ell_1 \in \mathbb{N}(\ell_0)$.

(2.1)
$$\sum_{\ell=\ell_0}^{\infty} D(\sigma(\ell))q(\ell) = \infty$$

then the positive solution $\{u(\ell)\}$ of (1.1) satisfies (S_*) and,

- (i) $\lim_{\ell \to \infty} u(\ell) = 0;$
- (ii) $u(\ell) + p(\ell)D(\ell)\Delta u(\ell) \ge 0;$ (iii) $\{\frac{u(\ell)}{D(\ell)}\}$ is eventually increasing.

Proof. The proof is similar to Lemma 2.2 of [7] since (2.1) implies that $\sum_{\ell=\ell_0}^{\infty} D(\ell+1)q(\ell) =$ ∞ and so the details are omitted.

Lemma 2.3. Let (2.1) holds. Assume that there exists a $\delta > 0$ such that

(2.2)
$$\min_{\ell \ge \ell_0} \left\{ p(\ell) D(\ell+1) D(\sigma(\ell)) q(\ell), p(\ell+1) D(\sigma(\ell)) D(\ell+2) q(\ell) \right\} \ge \delta$$

eventually. If $\{u(\ell)\}$ is a positive solution of (1.1), then

- (i) $\left\{\frac{u(\ell)}{D^{\delta}(\ell)}\right\}$ is decreasing;
- (ii) $\lim_{\ell \to \infty} \frac{u(\ell)}{D^{\delta}(\ell)} = 0;$ (iii) $\left\{ \frac{u(\ell)}{D^{1-\delta}(\ell)} \right\}$ is increasing.

Proof. Let us assume that $\{u(\ell)\}$ is an eventually positive solution of (1.1). Then (2.1) implies that $\{u(\ell)\}$ satisfies (S_*) for $\ell \geq \ell_1 \in \mathbb{N}(\ell_0)$. From Lemma 2.2(iii), we have

$$u(\sigma(\ell)) \ge \frac{D(\sigma(\ell))}{D(\ell+1)} u(\ell+1) \ge \frac{D(\sigma(\ell))}{D(\ell)} u(\ell).$$

Summing up (1.1) from ℓ_1 to $\ell - 1$, we have

$$-p(\ell)\Delta u(\ell) = -p(\ell_1)\Delta u(\ell_1) + \sum_{s=\ell_1}^{\ell-1} q(s)u(\sigma(s))$$

$$\geq -p(\ell_1)\Delta u(\ell_1) + u(\ell)\sum_{s=\ell_1}^{\ell-1} q(s)\frac{D(\sigma(s))}{D(\ell+1)},$$

which in view of (2.2) yields

$$-p(\ell)\Delta u(\ell) \geq -p(\ell_1)\Delta u(\ell_1) + \delta u(\ell) \sum_{s=\ell_1}^{\ell-1} \frac{1}{p(s+1)D(s+1)D(s+2)}$$
$$= -p(\ell_1)\Delta u(\ell_1) + \delta u(\ell) \sum_{s=\ell_1}^{\ell-1} \Delta \left(\frac{1}{D(s+1)}\right)$$
$$= -p(\ell_1)\Delta u(\ell_1) + \delta u(\ell) \left(\frac{1}{D(\ell+1)} - \frac{1}{D(\ell_1+1)}\right)$$
$$\geq \frac{\delta u(\ell)}{D(\ell+1)},$$

where we have used $u(\ell) \to 0$ as $\ell \to \infty$. Hence

(2.4)
$$\Delta\left(\frac{u(\ell)}{D^{\delta}(\ell)}\right) = \frac{D^{\delta}(\ell)\Delta u(\ell) - u(\ell)\Delta(D^{\delta}(\ell))}{D^{\delta}(\ell)D^{\delta}(\ell+1)}$$

By Mean-value theorem, we have

(2.3)

(2.5)
$$\Delta\left(D^{\delta}(\ell)\right) \ge \frac{-\delta D^{\delta}(\ell)}{p(\ell)D(\ell+1)}.$$

Using (2.5) in (2.4) and, in view of (2.3), we see that

$$\Delta\left(\frac{u(\ell)}{D^{\delta}(\ell)}\right) \leq \frac{D(\ell+1)p(\ell)\Delta u(\ell) + \delta u(\ell)}{p(\ell)D^{\delta+1}(\ell+1)} \leq 0.$$

That is, $\frac{u(\ell)}{D^{\delta}(\ell)}$ is decreasing, and therefore there exists $\lim_{\ell \to \infty} \frac{u(\ell)}{D^{\delta}(\ell)} = M \ge 0$.

We claim that M = 0. Indeed, if M > 0, then $u(\ell) \ge MD^{\overline{\delta}}(\ell) > 0$ eventually. Now define the companion sequence

$$v(\ell) = (p(\ell)D(\ell)\Delta u(\ell) + u(\ell))D^{-\delta}(\ell).$$

In view of Lemma 2.2, it is obvious that $v(\ell) \ge 0$ and

(2.6)
$$\Delta v(\ell) = \Delta(p(\ell)\Delta u(\ell))D^{1-\delta}(\ell+1) + p(\ell)\Delta u(\ell)\Delta(D^{1-\delta}(\ell)) + D^{-\delta}(\ell+1)\Delta u(\ell) + u(\ell)\Delta(D^{-\delta}(\ell)).$$

By Mean-value theorem, we have

(2.7)
$$\Delta(D^{1-\delta}(\ell)) \ge \frac{-(1-\delta)}{p(\ell)} D^{-\delta}(\ell+1),$$

and

(2.8)
$$\Delta(D^{-\delta}(\ell)) \le \frac{\delta}{p(\ell)} D^{-1-\delta}(\ell+1).$$

Using (2.7) and (2.8) in (2.6), we get

$$\begin{aligned} \Delta v(\ell) &\leq -q(\ell)u(\sigma(\ell))D^{1-\delta}(\ell+1) + \delta\Delta u(\ell)D^{-\delta}(\ell+1) + \delta\frac{u(\ell)}{p(\ell)}D^{-1-\delta}(\ell+1) \\ &\leq \frac{-q(\ell)D(\sigma(\ell))u(\ell)}{D(\ell)}D^{1-\delta}(\ell+1) + \delta\Delta u(\ell)D^{-\delta}(\ell+1) + \delta\frac{u(\ell)}{p(\ell)}D^{-1-\delta}(\ell+1) \\ &\leq \frac{-\delta u(\ell)D^{1-\delta}(\ell+1)}{p(\ell)D^{2}(\ell+1)} + \delta\Delta u(\ell)D^{-\delta}(\ell+1) + \frac{\delta u(\ell)}{p(\ell)}D^{-1-\delta}(\ell+1) \end{aligned}$$

$$(2.9) = \delta\Delta u(\ell)D^{-\delta}(\ell+1).$$

Since $u(\ell) \ge MD^{\delta}(\ell) \ge MD^{\delta}(\ell+1)$ and using (2.3), we obtain from (2.9) that

$$\Delta v(\ell) \le \frac{-M\delta^2}{D(\ell+1)p(\ell)} < 0$$

Summing up the last inequality from ℓ_1 to $\ell - 1$, we obtain

$$\begin{aligned} v(\ell_1) &\geq M\delta^2 \sum_{s=\ell_1}^{\ell-1} \frac{1}{p(s)D(s+1)} \geq M\delta^2 \sum_{s=\ell_1}^{\ell-1} \int_{D(s+1)}^{D(s)} \frac{1}{t} dt \\ &= M\delta^2 \ln \frac{D(\ell_1)}{D(\ell)} \to \infty \ as \ \ell \to \infty \end{aligned}$$

which is a contradiction. Thus

$$\lim_{\ell \to \infty} \frac{u(\ell)}{D^{\delta}(\ell)} = 0$$

Finally, we prove (iii). Equation (1.1) can be written in the equivalent form

(2.10)
$$\Delta(D(\ell)p(\ell)\Delta u(\ell) + u(\ell)) + D(\ell+1)q(\ell)u(\sigma(\ell)) = 0.$$

Summing up (2.10) from ℓ to ∞ and taking into account the fact that $\frac{u(\ell)}{D(\ell)}$ is increasing and (2.2), we obtain

$$\begin{split} D(\ell)p(\ell)\Delta u(\ell) + u(\ell) &\geq \sum_{s=\ell}^{\infty} D(s+1)q(s)u(\sigma(s)) \geq \sum_{s=\ell}^{\infty} \frac{\delta u(\sigma(s))}{p(s)D(\sigma(s))} \\ &\geq \frac{\delta u(\ell)}{D(\ell)} \sum_{s=\ell}^{\infty} \frac{1}{p(s)} = \delta u(\ell), \end{split}$$

that is,

(2.11)
$$D(\ell)p(\ell)\Delta u(\ell) + (1-\delta)u(\ell) \geq 0.$$

Now

(2.12)
$$\Delta\left(\frac{u(\ell)}{D^{1-\delta}(\ell)}\right) = \frac{D^{1-\delta}(\ell)\Delta u(\ell) - u(\ell)\Delta(D^{1-\delta}(\ell))}{D^{1-\delta}(\ell)D^{1-\delta}(\ell+1)}$$

By Mean-value theorem, we get

(2.13)
$$-\Delta(D^{1-\delta}(\ell)) \ge \frac{(1-\delta)}{p(\ell)} D^{-\delta}(\ell).$$

Using (2.13) in (2.12) and, in view of (2.11), we obtain

$$\Delta\left(\frac{u(\ell)}{D^{1-\delta}(\ell)}\right) \ge \frac{D(\ell)p(\ell)\Delta u(\ell) + (1-\delta)u(\ell)}{D(\ell)p(\ell)D^{1-\delta}(\ell+1)} \ge 0.$$

The proof of the lemma is complete.

Based on Lemma 2.3(i) and (iii), we immediately obtain the following oscillatory criteria for (1.1).

Theorem 2.4. Assume that (2.1) and (2.2) hold. If

$$(2.14) \qquad \qquad \delta > \frac{1}{2}$$

then (1.1) is oscillatory.

If $\delta \leq \frac{1}{2}$, then one can improve the results given in Lemma 2.3. Since $D(\ell)$ is decreasing, there exists a constant $\beta \geq 1$ such that

$$\frac{D(\ell)}{D(\sigma(\ell))} \ge \beta,$$

we introduce the constant $\delta_1 > \delta$ as

(2.15)
$$\delta_1 = \frac{\beta^\delta \delta}{1-\delta}.$$

Lemma 2.5. Assume that (2.1) and (2.2) hold. If $\{u(\ell)\}$ is a positive solution of (1.1), then

(2.16)
$$\delta_1 u(\ell) + D(\ell) p(\ell) \Delta u(\ell) \le 0,$$

for all $\ell \geq \ell_1 \in \mathbb{N}(\ell_0)$.

Proof. Let $\{u(\ell)\}$ be an eventually positive solution of (1.1). From (2.1) of Lemma 2.1, we see that $u(\ell)$ satisfies (S_*) for all $\ell \ge \ell_1 \in \mathbb{N}(\ell_0)$. Summing up (1.1) from ℓ_1 to $\ell - 1$ and using the

fact that $\{\frac{u(\ell)}{D^{\delta}(\ell)}\}$ is decreasing, and $\{\frac{u(\ell)}{D^{1-\delta}(\ell)}\}$ is increasing, we obtain

$$\begin{aligned} -p(\ell)\Delta u(\ell) &\geq -p(\ell_1)\Delta u(\ell_1) + \sum_{s=\ell_1}^{\ell-1} \frac{q(s)u(\sigma(s))}{D^{1-\delta}(\sigma(s))} D^{1-\delta}(\sigma(s)) \\ &\geq -p(\ell_1)\Delta u(\ell_1) + \sum_{s=\ell_1}^{\ell-1} \frac{q(s)u(s)}{D^{1-\delta}(s)} D^{1-\delta}(\sigma(s)) \\ &\geq -p(\ell_1)\Delta u(\ell_1) + \sum_{s=\ell_1}^{\ell-1} \frac{\beta^{\delta}q(s)u(s)D(\sigma(s))D^{\delta}(s)}{D^{\delta}(s)D(s)} \\ &\geq -p(\ell_1)\Delta u(\ell_1) + \frac{\delta\beta^{\delta}u(\ell)}{D^{\delta}(\ell)} \sum_{s=\ell_1}^{\ell-1} \frac{D^{\delta}(s+1)}{p(s)D^2(s+1)} \\ &\geq -p(\ell_1)\Delta u(\ell_1) + \frac{\delta\beta^{\delta}u(\ell)}{D^{\delta}(\ell)} \sum_{s=\ell_1}^{\ell-1} \int_{D(s+1)}^{D(s)} \frac{dt}{t^{2-\delta}} \\ &= -p(\ell_1)\Delta u(\ell_1) - \frac{\delta_1u(\ell)}{D^{\delta}(\ell)} D^{\delta-1}(\ell) + \delta_1 \frac{u(\ell)}{D(\ell)}. \end{aligned}$$

Since $\frac{u(\ell)}{D^{\delta}(\ell)} \to 0$ as $\ell \to \infty$, we get

$$-D(\ell)p(\ell)\Delta u(\ell) \ge \delta_1 u(\ell)$$

which completes the proof of the lemma.

Next, we present another criteria for the oscillation of (1.1).

Theorem 2.6. Assume that (2.1), (2.2) and (2.15) hold. If

 $(2.17) \qquad \qquad \delta + \delta_1 > 1$

then (1.1) is oscillatory.

Proof. Assume that (1.1) has an eventually positive solution $\{u(\ell)\}$. Condition (2.1) implies that $\{u(\ell)\}$ satisfies condition (S_*) . From Lemma 2.3, we see that (2.11) implies

$$(1-\delta)u(\ell) \ge -D(\ell)p(\ell)\Delta u(\ell)$$

and from (2.16), we have

$$(1-\delta)u(\ell) \ge \delta_1 u(\ell).$$

That is,

$$\delta_1 + \delta \le 1,$$

which contradicts (2.17). The proof of the theorem is complete. \blacksquare

Theorem 2.7. Assume that (2.2) holds. If

(2.18)
$$\lim_{\ell \to \infty} \inf \sum_{s=\ell+1}^{\sigma(\ell)-1} D(\sigma(s))q(s) > \frac{1-\delta}{e}$$

then (1.1) is oscillatory.

Proof. Assume that $\{u(\ell)\}\$ is a positive solution (1.1). First note that (2.18) along with (1.2) imply (2.1). To see this, it suffices to note that

(2.19)
$$\sum_{\ell=\ell_0}^{\infty} D(\sigma(\ell))q(\ell) = \infty$$

is necessary for (2.18) to be valid. Then from (2.19) and D being decreasing, (2.1) immediately follows. By Lemma 2.1, $\{u(\ell)\}$ satisfies condition (S_*) for all $\ell \ge \ell_1$. Moreover from (2.2), we have (2.11).

Now, from (1.1) and (2.11), we see that $w(\ell) = -p(\ell)(\Delta u(\ell))$ is a positive solution of the first order advanced difference inequality

(2.20)
$$\Delta w(\ell) - \frac{q(\ell)}{1-\delta} D(\sigma(\ell)) w(\sigma(\ell)) \ge 0.$$

However, it is well-known (see, e.g., [Theorem 2.1,[3]]) that condition (2.18) implies oscillation of (2.20). This is a contradiction and this completes the proof of the theorem. ■

Corollary 2.8. Assume that (2.2) holds. If $\sigma(\ell) = \ell + \tau$ where $\tau \ge 2$ is an integer such that

(2.21)
$$\lim_{\ell \to \infty} \inf \sum_{s=\ell+1}^{\ell+\tau-1} D(s+1)q(s) > \left(\frac{\tau-1}{\tau}\right)^{\tau}$$

then (1.1) is oscillatory.

Proof. The proof follows by applying Theorem 6.1.7 of [2] instead of Theorem 2.1 of [3]. This completes the proof of the corollary. ■

Our final oscillation result obtained without using condition (2.2).

Theorem 2.9. If

(2.22)
$$\lim_{\ell \to \infty} \sup \left\{ D(\sigma(\ell)) \sum_{s=\ell_0}^{\ell-1} q(s) + \sum_{s=\ell}^{\sigma(\ell)-1} D(s+1)q(s) + \frac{1}{D(\sigma(\ell))} \sum_{s=\sigma(\ell)}^{\infty} D(s+1)q(s)D(\sigma(s)) \right\} > 1$$

then (1.1) is oscillatory.

Proof. Assume that $\{u(\ell)\}$ is a positive solution of (1.1). It follows from (2.22) that there exists a constant M > 0 such that

(2.23)
$$\lim_{\ell \to \infty} \left\{ D(\sigma(\ell)) \sum_{s=\ell_0}^{\ell-1} q(s) + \sum_{s=\ell}^{\sigma(\ell)-1} D(\sigma(s))q(s) + \frac{1}{D(\sigma(\ell))} \sum_{s=\sigma(\ell)}^{\infty} D(s)q(s)D(\sigma(s)) \right\} \ge M.$$

We claim that (2.23) implies (2.1). Indeed, if not, then $\sum_{\ell=\ell_0}^{\infty} D(\sigma(\ell))q(\ell) < \infty$, which means that there exists an integer $\ell_* \ge \ell_1 \in \mathbb{N}(\ell_0)$ such that

(2.24)
$$\sum_{\ell=\ell_0}^{\infty} D(\sigma(\ell))q(\ell) < \frac{M}{6}.$$

That is, for $\ell \geq \ell_1$

$$\begin{split} D(\sigma(\ell)) \sum_{s=\ell_1}^{\ell-1} q(s) &= D(\sigma(\ell)) \sum_{s=\ell_1}^{\ell_*-1} q(s) + D(\sigma(\ell)) \sum_{s=\ell_*}^{\ell-1} q(s) \\ &\leq D(\sigma(\ell)) \sum_{s=\ell_1}^{\ell_*-1} q(s) + \sum_{s=\ell_*}^{\ell-1} D(\sigma(s)) q(s) \\ &\leq D(\sigma(\ell)) \sum_{s=\ell_1}^{\ell_*-1} q(s) + \frac{M}{6}. \end{split}$$

Hence, for $\ell \geq \ell_*$

$$\sum_{s=\ell}^{\sigma(\ell)-1} D(\sigma(s))q(s) \le \frac{M}{6}.$$

On the other hand, for $\ell \geq \ell_*$

$$\frac{1}{D(\sigma(\ell))}\sum_{s=\sigma(\ell)}^{\infty} D(s+1)q(s)D(\sigma(s)) \leq \sum_{s=\sigma(\ell)}^{\infty} D(\sigma(s))q(s) < \frac{M}{6}$$

Considering the above inequalities, we see that

$$\begin{split} \lim_{\ell \to \infty} \sup \left\{ D(\sigma(\ell)) \sum_{s=\ell_1}^{\ell-1} q(s) + \sum_{s=\ell}^{\sigma(\ell)-1} D(\sigma(s)) q(s) \right. \\ \left. + \frac{1}{D(\sigma(\ell))} \sum_{s=\sigma(\ell)}^{\infty} D(s+1) q(s) D(\sigma(s)) \right\} &\leq \frac{M}{2}, \end{split}$$

which contradicts (2.23) and therefore (2.1) holds. Thus $\{u(\ell)\}\$ satisfies the conditions of Lemma 2.2. Simple computation shows that (1.1) can be rewritten as follows:

$$\Delta(D(\ell)p(\ell)\Delta u(\ell) + u(\ell)) + D(\ell+1)q(\ell)u(\sigma(\ell)) = 0.$$

Summing up the last equation from ℓ to ∞ , we have

(2.25)
$$D(\ell)p(\ell)\Delta u(\ell) + u(\ell) \ge \sum_{s=\ell}^{\infty} D(s+1)q(s)u(\sigma(s)).$$

On the other hand, summing (1.1) from ℓ_1 to $\ell - 1$, we get

(2.26)
$$-p(\ell)\Delta u(\ell) \ge \sum_{s=\ell_1}^{\ell-1} q(s)u(\sigma(s)).$$

Combining (2.26) in (2.25), we obtain

$$u(\ell) \ge D(\ell) \sum_{s=\ell_1}^{\ell-1} q(s)u(\sigma(s)) + \sum_{s=\ell}^{\infty} D(s+1)q(s)u(\sigma(s)).$$

Therefore

$$u(\sigma(\ell)) \geq D(\sigma(\ell)) \sum_{s=\ell_1}^{\ell-1} q(s)u(\sigma(s)) + D(\sigma(\ell)) \sum_{s=\ell}^{\sigma(\ell)-1} q(s)u(\sigma(s)) + \sum_{s=\sigma(\ell)}^{\infty} D(s+1)q(s)u(\sigma(s)).$$

Since $\{u(\ell)\}$ is decreasing and $\{\frac{u(\ell)}{D(\ell)}\}$ is increasing, we obtain that

$$1 = \frac{u(\sigma(\ell))}{u(\sigma(\ell))} \geq \left\{ D(\sigma(\ell)) \sum_{s=\ell_1}^{\ell-1} q(s) + \sum_{s=\ell}^{\sigma(\ell)-1} q(s) D(\sigma(s)) + \frac{1}{D(\sigma(\ell))} \sum_{s=\ell}^{\infty} D(s+1)q(s) D(\sigma(s)) \right\}.$$

Taking $\limsup \sup \ell \to \infty$ on both sides of the last inequality we get a contradiction. This completes the proof of the theorem.

3. EXAMPLES

In this section, we provide two examples to illustrate the importance of the main results.

Example 3.1. Consider the second-order noncanonical advanced difference equation

(3.1)
$$\Delta(\ell(\ell+1)\Delta u(\ell)) + \gamma u(2\ell) = 0, \ \ell \ge 2.$$

Here $p(\ell) = \ell(\ell+1), q(\ell) = \gamma > 0, \sigma(\ell) = 2\ell$. Now $D(\ell) = \frac{1}{\ell}$ and condition (2.1) holds. By taking $\delta = \frac{\gamma}{2}$, we see that (2.2) holds. By Theorem 2.4, equation (3.1) is oscillatory if $\gamma > 1$.

By simple calculation, we see that $\beta = 2$ and

$$\delta_1 = \frac{\gamma}{2-\gamma} 2^{\gamma/2}.$$

By taking $\gamma = 3/4$, we have

$$\delta + \delta_1 = 2^{\frac{3}{8}} \frac{3}{5} + \frac{3}{8} > 1.$$

Therefore by Theorem 2.6, equation (3.1) is oscillatory for $\gamma \geq \frac{3}{4}$.

Note that the equation (3.1) was considered in [9] and it was shown that (3.1) is oscillatory if $\gamma > 2$; in [13] it is shown that (3.1) is oscillatory if $\gamma = 2$ and in [12], it is shown that (3.1) is oscillatory if $\gamma \ge 1$. Therefore Theorem 2.6 improves Theorem 4 in [9], Theorem 3.3 in [13] and Theorem 2.4 in [12].

Example 3.2. *Consider again the equation* (3.1)*. For this equation* (2.1) *holds. The condition* (2.22) *becomes*

$$\lim_{\ell \to \infty} \sup\left\{\frac{\gamma}{2\ell}(\ell-2) + \frac{\gamma}{4} + \frac{\gamma}{2}\right\} = \frac{5\gamma}{4} > 1.$$

Hence, by Theorem 2.9, equation (3.1) is oscillatory if $\gamma > \frac{4}{5}$. Note that, Theorem 2.9 improves Theorem 4 in [9] and Theorem 3.3 in [13].

4. CONCLUSION

In this paper we have established some new oscillation criteria which have improved some of the results already reported, and this is illustrated through two examples.

REFERENCES

- [1] R. P. AGARWAL, Difference Equations and Inequalities, Marcel Dekker, New York, 2000.
- [2] R. P. AGARWAL, M. BOHNER, S. R. GRACE and D. O'REGAN, *Discrete Oscillation Theory*, Hindawi Publ. Corp., New York, 2005.
- [3] B. BACULIKOVA, Oscillatory behavior of the second order noncanonical differential equations, *Electron. J. Qual. Theory Differ. Equ.*, **89**(2019), pp.1-11.
- [4] E. CHANDRASEKARAN, G. E. CHATZARAKIS, G. PALANI and E. THANDAPANI, Oscillation criteria for advanced difference equations of second order, *Appl. Math. Comput.*, 372(2020), 124963.
- [5] G. E. CHATZARAKIS and E. THANDAPANI, New oscillation criteria of first order difference equations with advanced argument, *Adv. Math. Sci. J.*, **10**(2021), 971-979.
- [6] G. E. CHATZARAKIS, S. R. GRACE and I. JADLOVISKA, Oscillation theorems for certain second-order nonlinear retarded difference equations, *Math. Slovaka*, 71(2021), 871-880.
- [7] G. E. CHATZARAKIS, N. INDRAJITH, E. THANDAPANI and K. S. VIDHYAA, Oscillatory behavior of second-order noncanonical retarded difference equations, *Aust. J. Math. Anal. Appl.*, 18(2)(2021), Art.20, 11 pp.
- [8] G. E. CHATZARAKIS, N. INDRAJITH, S. L. PANETSOS and E. THANDAPANI, Oscillations of second-order noncanonical advanced difference equations via canonical transformation, *Carpathian J. Math.*, (2022) (to appear).
- [9] P. DINAKAR, S. SELVARANGAM and E. THANDAPANI, New oscillation condition for secondorder half-linear advanced difference equations, *Int. J. Math. Engg. Manag. Sci.*, 4(2019), 1459-1470.
- [10] S. R. GRACE and J. ALZABUT, Oscillation results for nonlinear second order difference equations with mixed neutral terms, *Adv.Difference Equ.*, 2020(8)(2020), pp. 1-12.
- [11] S. R. GRACE and J. R. GRAEF, Oscillatory behavior of higher order nonlinear difference equations, *Math. Model. Anal.*, 25(2020), 522-530.
- [12] N. INDRAJITH, J. R. GRAEF and E. THANDAPANI, Kneser-type oscillation criteria for secondorder half-linear advanced difference equations, *Opuscula Math.*, 42(2022), 55-64.
- [13] R. KANGASABAPATHI, S. SELVARANGAM, J. R. GRAEF and E. THANDAPANI, Oscillation results for nonlinear second order difference equations with advanced argument, *Indian J. Math.*, 63(2021), 415-432.
- [14] R. KANGASABAPATHI, S. SELVARANGAM, J. R. GRAEF and E. THANDAPANI, Oscillation using linearization of quasilinear second order delay difference equations, *Mediterr. J. Math.*, 18(248)(2021), https://doi.org/10.1007/s00009-021-01920-4.
- [15] R. KOPLATADZE, Oscillation of linear difference equations with deviating arguments, *Comput. Math. Appl.*, 42(2001), 477-486.
- [16] O. OCALAN and O. AKHI, Oscillatory properties for advanced difference equations, *Novisad J. Math.*, 37(2007), 39-47.
- [17] B. PING and M. HAN, Oscillation of second order difference equations with advanced arguments, *Conference Publications, Amer. Inst. Math. Sciences*, (2003), 108-112.
- [18] S. H. SAKER, Oscillation of second order nonlinear delay difference equations, *Bull. Korean Math. Soc.*, 40(2003), 489-501.
- [19] E. THANDAPANI, K. RAVI and J. R. GRAEF, Oscillation and comparison theorems for half-linear

- [20] E. THANDAPANI and S. SELVARANGAM, Oscillation of second order Emden-Fowler type neutral difference equations, *Dym.Cont.Disc.Impul.Sys.Series A: Math. Appl.*, **19**(2012), 453-469.
- [21] H. WU, L. H. ERBE and A. PETERSON, Oscillation of solutions to second order half-linear delay dynamic equations on time scales, *Electron. J. Differential Equations*, **2016**(2016), No.71, pp.1-15.
- [22] B. G. ZHANG and S. S. CHENG, Comparison and oscillation theorems for an advanced type difference equations, *Ann. Differ. Equ.*, 4(1995), 485-494.
- [23] Z. ZHANG and Q. LI, Oscillation theorems for second order advanced functional difference equations, *Comput. Math. Applic.*, **36**(1998), 11-18.